in[13= << Combi natorica’
in[1:= Kings =50; cursed =1; thrones =2; sittime =5/ (60x24); w zardeffect =0;
inz= Kingstb = Join[Constant Array [1, cursed], Constant Array [0, kings -cursed]]

oup2= {1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, O, O, O, O, O, O, O, O, O, O, O, O,
o, o, 0,00,06060000004000000000000000 0

inz= thronestb = Constant Array [0, thrones]

ouzl= {0, 0}
n4= gettf [sittime_, listt_]:=Append[Mst [listt], Last [listt]+
If [Most [listt] # {}, sittime Total [Map[UnitStep[Last [listt] -#] & Most [listt]]], 0]1;
gettimes[sittime_, kings_] :=Mdule[{randonarray}, randonmarray =

Tabl e [RandonReal [{0, 1-j sittine}], {j, O, kings -1}]; gettf [sittime, randomarray]l];
in[141:= get ki ngspos [ki ngs_1] : = RandonPer nut ati on [Range [ki ngs]];
in[15]:= getthronespos [t hrones_, kings_] : = RandonChoi ce [Range [t hrones], kings];
n[1o}= updatefunction[list_, {pos_, value_}] := ReplacePart [list, pos -»valuel;

1= updat ef unction2 [{kingslist_, throneslist_}, {kingspos_, thronespos_}]:=
{updat ef uncti on [ki ngsl i st ,
{ki ngspos, Unitize[kingslist [kingspos] +throneslist [thronespos]]}], updatefunction][
throneslist, {thronespos, Unitize[kingslist [kingspos] +throneslist [thronespos1}]};

infi6):= round2 [{{kingstb_, thronestb_, counter_}, sittine_}] := Mdul e[{nkings, nthrones,
times, kingspos, kingsval, thronespos, thronesval, tinetable, updatelist},
nki ngs = Lengt h [ki ngstb];
nt hrones = Length[thronestb];
times =gettines[sittime, nkings];
ki ngspos = get ki ngspos [nki ngs];
t hronespos = gett hronespos [nt hrones, nkings];
timetabl e = Sort [Transpose [{times, kingspos, thronespos}]];
updatelist = Map[Rest, tinetablel];
{ki ngsval , thronesval } = Fol d [updat ef uncti on2, {kingstb, thronestb}, updatelist ];
{{ki ngsval , thronesval , counter +1}, sittine}];

7= tabela[{{kingstb_, thronestb_3}, sittime_}, runs_]:=
Tabl e[Last [First [Nest Wil e [round2, {{kingstb, thronestb, 0}, sittinme},
(#[1, 17 # Constant Array [1, Length[kingstb]]) &]11, {runs}];

n1:= Timng[results =tabela[{{kingstb, thronestb}, sittine}, 100007; ]

outz1]= {41.98, Nul | }
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in[23):= Hi stogram[results, {1}, PlotRange -» All, Frame - True]
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Out[23]=
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in241:= N[Mean[results]]
out[z4]= 2. 757

inesl= {Mnf[results], Max[results]}

out2s]= {2, 4}

in20):= Timng[test2 = Nest Wil e[round2, {{kingstb, thronestb, 0}, sittinme},
(#[1, 17 # ConstantArray [1, Length[kingstb]]) &]1]

out20j= {1. 51246 x 1077,

{{{1, 1, 1,12,1211111212121,11,11212,1,1,1,1,1,11 1, 1,1,1,

1
L1,1,1,1,1,1,14,14, 41,1, 1,1, 4, 1,1, 401,01, 1), (1, 1), 8, -}
288



Thrones3.nb | 3

in[26:= test = NestList [round2, {{kingstb, thronestb, 0}, sittime}, 6]

out[26]= {{{{l, o, o, 0,000,060 0000¢00000000000000000,



